1. EEERE

(1) R LR
7. KRR (i 551 %)
SRR 2 1A
X 57 200 -1 LR 204E R
(B R BT L
(] A R i 12,467 98.3 12,684
@\ AN B e RO 4,617 108.3 4,265
& # 17,085 100.8 16,950
IR T 3,384 99.9 3,388
A FERHK (i 57, %)
R 204 SRR 214
S 53 520U - 44 200 -
(_E=14) (@SS 1)) TR R B
(] A (ES g 408 455 111.6
£ NS CO O O 99 397 400.8
& & 507 853 168.2
| 5% B e B - 2 i 1 7 b % 140 129 92.2

(B 1. SRGIORBRE & 13,

1[81&% 7= 0 ORBEHZ DV TER

FEF D X Ih b e C TR & e T, L b7- Y

ORBBHI IR L2 &8 T (—RHARKE L, REUEH 2 (R TR L7 @40)
2. TEERROREE - AERTRGAHORBESE ) (I3, ERORBEAGAT (ABERafT, FATRATSE) | AR ORbsEAe A

(FrEmfaft. Irifafras) | CREREHAIAGERIGH (BEZHEH &4 25 003k, FRERRRE,

IriEErRRE T2 b0 ET) FITEYT L0 OFERERBEZFH L LTV ET,

3. HTEAICIE. AR X OVRRE RLE LIC K AN &4E % &0 O ET,
[Zx%]
PR « AR A L R R sk (B - £ 7, %)
SRk 204 fiE Rk 2 14F FiE
S o) 200 -1 200 - 1]
(=-480) (=356 HTAE R L
EPN S PN 460 435 94.6
() BRAEKE R OBENE
7. RERNE (BT < £ . %)
SRR 214
X o3 552 DU =4 SRR 204F R
(=80 =R AR R b
@ & A R 5 1,013,661 95.7 1,059,530
@M AN O F 4 R B 114,079 101.3 112,582
/N (D) 1,127,740 96.2 1,172,113
@ &N £r 53 1,057,102 98.9 1,069,290
(O+@+®3) 2,184,842 97.5 2,241,403
@ w = & B K’ 64,119 100.5 63,806

B 1. EAEERBRICOW TR, FESHABRMGRIR OFE LR IR IZ I 1 D FEIFRE & Fa S0 IR

R OEEREHEZ AR L2 b DT,

2. MEESRBRIZOWTIE, BEEHEOSEHTT.

g ooboo 10

gooobooboooo




1. REZRHEK

(HAL: T %)

P2 14
X 9 552 DU = 1 R 204 R
(B R BRI R
OF N 8,602 98.7 8,714
@ 1 N F & R’ 1,915 101.7 1,884
FH(D+@) 10,517 99.2 10,598
U HREE (A7 (5511 . %)
PR 204 gk 2 148 i
X N FE200 5] (== H) FE200 - 5] (== H) .
7 EIER
wes | BRe s | MIEEES |
O AN & B’ 13,555 18,870 A 5,315 11,661 18,987 A 7,325  86.0
@ il N = 4 PR R 2,466 2,484 A 17 3,866 3,892 A 26| 156.8
NEH(D+@) 16,021 21,355| A 5,333 15,528 22,879| A 7,351 96.9
@ M K& & & 1,099 1,099 8,364 8,364 760.6
FH(O+@+O3) 17,121 22,454| A 5,333 23,892| 31,243 A 7,351 139.5
@ [ IR 4 PR R 1 1 2 2 225.4

F) 1.

MHAYC K DRI i3, PRIERIE LI K Do L2 S TV ET,

2. K« R IS WA O M8 AR B ORBR O BRI T ARG SEABRAGIF I Z B 1 2 AR RUE T,
3. HERKIOFIEERLRBRO SFITH 1 FIALRBRE T,

T, IR (WAL : T, %)
VR 204 R 2 LA
X 57 200 =1 265200 M1
(E=40) (E4=41) TR [R) 11 B
O AN R & 445 463 103.9
@ @ N 4 R R 40 65 159.7
#H(O+©@) 486 528 108.6

(JE) BN E L S T L OMRRR IR LIRS 2N A 73BT,

[Z%%]
fER - K 5h e (BT (51T, %)
SRR 204 R 214
X o 55200 - 14 55200 2= 1]
() (_E2-4) FITAR [ 41
NS R PN SN Y 42,179 37,569 89.1
R « Kezh = (AT : %)
SRR 204 SRR 2 1
X o 5520 =1 5520 -1
(EE) (_E>E1)
(PN R PN R P 3.33 3.21

g ogoo 20

gooobooboooo



(3) EEMXHH

(A7 AT %)

% 204 i gk 214 FiE
X oy 55200 -1 5520 -1
(E=340) (E4=11) AR B
R S N 12,915 15,659 121.2
®opE E O I AR 2,681 3,401 126.8
PR R 4 25 3 HA 4 11,848 11,675 98.5
‘" pE E B B H 1,038 1,048 101.0
(4) R CHS i+ %)
L2 14EJE
X 57 20U =1 SRR 204E R
() =R BT R LT
1 3 245,461 102.7 239,034

o ogoo oad

gooobooboooo




